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QUESTION 1

In a single site deployment, SIP Server can be deployed in which of the following modes? Choose 3 answers
A. Stand alone SIP Server

B. SIP Server integrated with a Softswitch

C. Open Standard SIP Architecture

D. Hybrid architecture

E. Application Server Mode

Correct Answer: ABC

QUESTION 2

Which Genesys component is used to load balance between multiple SIP Servers?
A. Load Distribution Server

B. SIP Server

C. Network SIP server

D. Media Server

Correct Answer: C

QUESTION 3

What is the SIP Server supported methods for initiating two-step call transfer? (Choose 2 answers)
A. INVITE

B. PUBLISH

C. INITIATE

D. REFER

E. MESSAGE

Correct Answer: AD

QUESTION 4

Which protocol is SIP Server using when in communication with Softswitch?
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A. CTI protocol

B. T-Lib

C.SIP

D. Proprietary protocol

Correct Answer: C

QUESTION 5
Which statement is true?

A. Geo-location allows choosing a device at the same premise where the Agent SIP Endpoint is located to minimize
network load for RTP traffic.

B. Geo-location feature is not suitable in selecting the most cost effective gateway for outbound calls.

Correct Answer: A
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